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01 A28l 217,000 400,000 183,000
OOIZ2=SEHA A =48 S A
20,000,000 20,000
O0f2s8HA AHAIZES XA
20,000,000 20,000
OOtZ2s=HHAl ofd & =28 JUIAIY
10,000,000 10,000
o0tz - sxs3HAl =2 43| € 228
EXI(10002) 7,000,000& 7,000
OSxs3HA AESEE XA
20,000,000 20,000
OXSssHA +=S3HIAY
20,000,0002 20,000
ONZSZEA ZAHBSERR LXIAY
20,000,000 20,000
ONELX JISH JISAE X2
50,000,000 50,000
OSBHX ZHXA HHIAIL
50,000,000 50,000
A2 JIgEE HEAY 150,000 0 150,000
== 40,000
o 110,000
401 AIEHIZ R HYI 150,000 0 150,000
< 40,000
T 110,000
01 AlZHI 150,000 0 150,000
O822I OtAZ THEZE SAHIST)
150,000,000 150,000
= 40,000
Ea 110,000
Y A7 0EH EXs NE AL 9,000 6,000 3,000
== 2,700
o 6,300
307 212+01& 9,000 6,000 3,000
< 2,700
T 6,300
02 LB HAHE L 9,000 6,000 3,000
OoFINIY MANEE Bxs K&
3,000,000 +3% 9,000
= 2,700
[Ea 6,300




2A:

2 Atel Z Xl ot

M JIgXA
SRl JIgR2g 243t AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sS2I|E S EES NH 200,000 200,000
306 £02 200,000 200,000
01 2012 200,000 200,000
OBLAIBEEIS 2012
200,000,000 200,000
NAT & HE KA 70,000 70,000
307 @I2t0| & 70,000 70,000
02 QB AANEE R 70,000 70,000
OXIAT& HE XA
70,000,000& 70,000
Seatitg |4 X3 At 70,000 0 70,000
308 XXM SOIA 70,000 70,000
18 SIS0t 4 A AS At 70,000 70,000
Ogatitd 54 X2 A
70,000,000& 70,000
AOIEESYE AEXFAE 40,000 0 40,000
308 AtXIEMSOIE 40,000 40,000
18 SIS0t AS A 40,000 40,000
OANIEEEE 75 K& A
40,000,000 40,000
SEAZE 2Ael2E 49,500 55,500 26,000
201 2egh=3| 5,500 5,500 0
01 At22t2lt] 2,500 2,500 0
Oget=ZH| 2,500,000& 2,500
2 s5=34l 3,000 3,000 0
OgEAZE RUBHIANAY S5
3,000,000 3,000
307 @12t01 & 20,000 10,000 10,000
02 QB AANEER 20,000 10,000 10,000
Og8AZE EEu= 243 X 10,000
—13 3,000,000 *4 % +50% 6,000
—235 2,000, 0003 x4 2 +50f% 4,000
OogsAz Zel(Ead) deEgs Xd
10,000,000 10,000
401 AIEHIZ SR OHYI 20,000 20,000
01 Al&HI 20,000 20,000
OgB8AZE A2 A& JHES
20,000,000 20,000
405 AHatE = 4,000 4,000
01 ML ESF SHI 4,000 4,000
Og8AZE d&EH WA 4,000,000& 4,000
AY2IZHI(LA2IZ M) 21,250 35,510 A 14,260
J1I=238l 21,250 36,510 14,260
JI23Hl 21,250 36,510 14,260




M LXtelZ Mzt
M AAH2IAHI(LX2IZ D)

704,000,000&

704,000

=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

201 er23 | 8,650 11,710 23,060

01 At2teltl 8,650 11,710 /3,060
Oget+=ZHI 8,650,000& 8,650

202 0o4dl 9,000 12,600 A3,600

01 =LHNHI 9,000 12,600 A3,600

OSAHSL (A, HOIL, 938 &4 S)

600,000 %15 9,000

203 =] 3,600 11,200 AT7,600

M FA2HARFAI 3,600 4,200 2600
ORNSgERF=AHI 300,000 * 122 3,600

Neegs 704,000 650,000 54,000

LIS HHKIZE 704,000 650,000 54,000

I[EtelHEES 704,000 650,000 54,000

R IISHE 704,000 650,000 54,000

(UIPII=FSE 704,000 650,000 54,000

saJlg s 8&s




